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148 |AE | +14m FiE I 42 ERER 248 [EFE | +1.1m FiE I 452 ERER%
1| 1029|=® st 4| EEREX 1 12.41 1 945|)Il £ # 2| EEEBYRS 1 13.00
2 nE F& 3| EEEER 2 12.92 2| 787|%H# HhA 2| RERS 2 13.10
4 55|k Z=EF 1[fAS 3 13.00 4] 1245|@K HwH AES 3 13.19
3| 1030|%mE w® 3| EEREX 4 13.31 3| 611|xm mx 2| AR FE 4 13.59
3# [EFE |+0.8m FiE I 42 ERER 448 |AE | -0.7m FiE I 42 R
1| 621|sm mz% 2| AL ERES 1 13.00 3| 171|eH ez 1[HaLEFSE 1 13.47
2| 789|%H# HoA 2| RERS 2 13.34 2| 609|f% x5F 2| FAE 2 13.55
3| 505|xm mF 2| HALEFE 3 13.74 4] 3045| bEEEKRE 3| FHES 3 13.80
4]  954|xzE @E 2| HBH® 4 14.10 1| 1244[F0 @m KESA 4 13.85
5# |EE | +1.6m FiE I 432 ERER 648 |EE | -02m FiE I 432 R
3| 779w mE 2| RERS 1 13.78 4] 3046|&nEHH 3| FHEH 1 13.89
4] 620lBF & 2| AL ERES 2 13.82 2| 1921 @B 1 fAE 2 13.94
1 622|1g1 =& 2| AL ERES 3 13.84 3| 1304/ %= 2| B+ 3 14.34
2| 1305\ % wk 2| @S 4 14.07 1 508|)I13 £@ 2| AR FE 4 14.47
74 [EZFE | +01m FiE I 42 ERER 8#8 |AE | +1.5m FiE I 452 ERER%
3 44|k B 1| HELE 1 14.21 4 56|thE it 1| EeERERS 1 13.79
1 280| /) FE NES=EE 2 14.39 3| 790|E&x g 2| RERS 2 14.18
2| 1246|mE wE 2| &k 3 14.47 2| 3753|mm =5 14| <hA—29AC 3 14.60
4 3|BE Z=rE 1| B 4 14.83 1 67|mHP =3 1| B 4 15.26
off [EiE | -03m FiE I 42 ERER 1048 [EFE | +1.6m FiE I 42 R
1 783|®Em HE 2| RERS 1 14.16 4] 3044|XT #it 3| FHES 1 14.22
2| 3891 |%ME %5 4|+ v E7 ISR 2 14.29 2| 946|HE B 2| EEEBYRS 2 14.34
4] 1307|m %= 2| @S 3 14.63 3| 283|mk ®Z NES=EE 3 14.45
3| 128|k#E ki 1| Eexgaxs DNS 1| 1306|z8 m= 2| @S 4 14.62
1148 [EE | +1.0m FiE I 42 ERER 1248 |[EFE  [+0.7m FiE I 452 FRER
2|  288|mhiz xmm NES=EE 1 14.44 4] 109|#&3 #R 1[fAE 1 14.13
4] 778|t+3# Bl 2| RERS 2 14.46 3|  826|mE Hv 3| HiAlL& F e 2 14.99
1 186\ IIE YK 2| RERS 3 14.62 1 291|B5M #B NES=EE 3 15.62
3| 279|Mm &1 NES=EE 4 14.79 2| 1312|F &% 1| B+ DNS
1348 |EaE  [+1.5m FiE I 42 ERER 1448 |EE  [+3.9m FiE I 42 ERE%
3| 1311 |#t = 1B+ 1 14.55 4]  130|mEsr =z 1| Eaxgaxs 1 14.27
1 7804k 4@ EiR 2| RERS 2 14.61 1| 1254|=0 @z NESE 2 14.54
4] 3058|st z= 2| FHEH 3 14.89 3| 3059|F1 BEE 2| FHEH 3 14.55
2| 1252|hE ¥ NESE 4 15.08 2| 827|mR EM 3| HiAlL& F e 4 14.64
1588 [EAE |+0.9m g I {5z ECER 1648 |[E#E |[-0.8m g I {5z ECER
1| 129|=m sz 1| Eaxgaxs 1 14.58 3| 396k #mE 1| EeERERs 1 14.75
2| 822\ wtE 3| HiAlL& F e 2 15.00 2 AE M 1| &A@+ 2 15.37
4| T61|1ER HEE 2| EEEBYRS 3 15.12 1 68|ms 1| HmEE 3 15.58
3| 1661|@m ME 1| &g+ 4 15.18 4 57|=4& it 1| EeERERs DNS
1748 |BLE  [+1.7m FiE I 452 ERE% 1848 |EFE  [+1.9m FiE I 452 FRER
2| 275|%# 4@ 1| EeERERs 1 15.37 4] 1250|kEF EP NESE 1 15.35
1| 785(mx mz 2| RERS 2 15.46 2| 1315|@E —it 1B+ 2 15.35
4] 1249|3E 15 NESE 3 15.47 1 788|&m £F 2| RERS 3 15.57
3 KN _BE 1| &A@+ 4 15.53 3| 2355|E%  # 1@k 4 15.98
1948 |EaE  [+0.5m FiE I 452 ERE% 2048 |AE  |+1.4m FiE I 452 FRER
3| 71432 |mm #HE 5|EBX 1 15.73 3| 223|=m mEZE 1 husamgs 1 15.20
2| 3056|mmma 2| FHEH 2 15.81 4 & pE 1|&A@+ 2 15.94
4] 3057|# zm 2| FHEH 3 15.83 1| 1308[ax =w 2| B+ 3 16.17
1 784|FH BEE HES:=Ee 4 16.08 2| 274|3% ®mz= 1| EeERERs 4 16.65
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148 No. iR E FiE I 452 ERE% 2% No. iR E FiE I 452 FRER
1 607 @ & 2| FAE 1 58.02 1 51|%E =n 1 fAS 1 59.82
2| 521|rm AE 2| FAE 2 58.81 4 54|iRMA  EH 1[fAE 2 1.01.65
3| 93|mm ®/E 2| hues 3 1.01.05 3| 520|kR1 g 2| FAE 3 1.01.96
4]  514|mE zZw 2| mEmE 4 1.02.64 2| 5193 ®E 2| FAE 4 1.03.71
348 No. iR E FiE I {5z R 448 No. iR E FiE I {5z R
1| 621|sm mzF 2| AL ERES 1 1.01.60 1 930|#E 1t 2| haas 1 1.03.93
4| 1440|i= WBE K G-t 2 1.02.48 2 3|so @ 1|hras 2 1.06.19
3| 177|mm ez e o 3 1.02.69 4] 107|&m5 HF 1 fAE 3 1.07.02




2] 762[Es van | EeERLES 1.06.88 ) munaEEs 1.07.38
No. R g FOEk g o8
13891|=% 25 144y EF ISR 1.04.60 1 1| mEts 1.06.58

515\ =# N 1.07.53 3 1|zm&x¥s 1.11.13
283mAx m= 1|zmzx¥s 1.14.44 4 1|zm&x¥s 1.14.55
620[BF & ) munsEes DNS 2 1|zmzx¥s 1.15.81
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748 No. BREE B I 432 FaEzd 84l No. BREE B I 432 Farzd
3 to1|w &z MGib N E T 1 1.10.41 3| 396|@mx #E | EeEREES 1 1.12.62
1| 279|mMm@m &M NES=EE 2 1.12.44 2| 780|#sm mM 2| RERS 2 1.12.84
2| 513|m2zm EE 2| REHE 3 1.12.99 1| 786|E 4% AR 3 1.13.91
4] 761|nEE BHEE 2| EEERERE 4 1.13.58 4 57|=& wiiE | EeEREES 4 1.18.89
offl No. iR E FiE JE {5z ERER 1048 | No. iR E FiE JIE {5z FRER
4 (=S 1| RS 1 1.15.69 2| 512|ik HH 2| REHE 1 1.07.49
2 B RE Az 1| RS 2 1.16.74 3| 770|mE e 2| REHE 2 1.11.37
3 68|ms M 1| RS 3 1.18.95 1| 223|=@m mEE MGib N E T 3 1.16.06
1| 274|B% ®Z | EeEREES DNS 4] 1009 i = 3| BB DNS
1148 No. iR E FiE JE {5z ERER
1| 846|FN 2| =EH 1 1.13.19
3| 753|me x4 2| B 2 1.19.87
2| 520|%R mig 2| AAE DNS
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148 No. A & B I 42 B8R 248 No. A & B I 452 FaEzd
2| 71009 %= 3| EEX (FE) 1 2.17.69 2| 6588|@E i1 1| Amfgs 1 2.39.00
3| 71341|=8r EH 1| BB 2 2.18.44 4|  342|mE ik || EEXEEAS 2 2.39.26
4 54|iRMA  EH 1A 3 2.20.05 8|  202|k# sniE 1| 2A%FE 3 2.42.92
1] 3752[x ®E 2|<ht—4AcC 4 2.26.79 5 1303|2) 2% 2 | B+ 4 2.43.54
5| 71010|@m == 3| BB 5 2.35.72 3| 1243|m*x BE b 5 2.46.43
6| 51528 &M 2| REHE 6 2.36.93 1 SE B 1|®RiEH 6 2.48.37
7| 802|#E ®= 2| EBXHRE 7 2.44.96 6| 823|FE HiEF 3| AWk FE 7 2.51.17
8| 1248\ &k EZ 2| R+ DNS 7| 1247|Ex BHARE 2| R+ 8 2.56.47
348 No. iR E £ FiE I {5z ERER 448 No. iR E £ FiE I {5z ERER
2 191w Eze MGib N E T 1 2.45.57 2| 3n|Em & 1| EBXEET 1 2.54.56
8|  296|mE = NES=EE 2 2.53.98 4] 222|mR #E \hunergs 2 2.55.20
3| 1316|mE @it 1|iEEH 3 2.54.04 5 285|5/&x = | 2A%FE 3 2.55.99
4 RN _BE 1|=m@s 4 2.54.05 6| 2353|mFE &x: 3|Bas 4 3.01.87
7| 294|gE mE NES=EE 5 2.54.54 1 ERIET 2 | RELE 5 3.04.35
5| 1317|m En 1| &S 6 2.57.46 3| 284|lwio =x | 2A%FE 6 3.08.14
1| 1302w 1z 2 | B+ DNS 8| 2962|mi xw N2 7 3.09.40
6| 2956|mis F# 2| =4k DNS 7| 29058|mm anE 2| =4k 8 3.09.50
5# | No. [BEEE £ [FE I 452 B8R
9| 71386 &k Hx [N=pS 1 2.37.88
7| 625|EE x£m@ PN TE 3 2 2.44.75
8| 71404|2E #F 1wax 3 2.46.26
10| 1664|818 z% 1|EBs 4 2.55.55
4] 2955|ki B 2| =4k 5 3.08.65
2| 388|EZ mtt | 2A%FE 6 3.10.23
3| 2959|wx x:A 2| =4k 7 3.12.82
5| 2052|m@mn mex 3|=dk 8 3.17.13
1| 387|%E %3 NES=EE 9 3.22.16
6] 2963 FHF A 1|=dtrh 10 3.36.92
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148 No. BB F & IEfr) 8% 1# | No. BB F & IEfr) 8%
1 204|ER == 1|iBES 1 4.59.14 2 S2[FRE A HAAS 1 10,02.20
2| 3042[17E BH 3| FHRES 2 4.59.66 6 203 |mik#E Fib 1|iBES 2 10.04.72
9] 4684[EsE X 3 | tirch 3 5.10.44 3 560| =i B 2| BHEE 3 10.08.25
5 3041 [ghARZHES 3| FHRES 4 5.10.83 1 520| AR g 2| ftAE 4 10.13.09
4| 4686 |1k DE 3 | tirh 5 5.11.03 11 S12|A HpH 2|RthE 5 10.18.93
6 206 |ER £ 1|iBES 6 5.12.36 7| 4687 | KiG% i d 3 | tirch 6 10.21.40
3| 4685(#HE A 3 | tirh 7 5.12.97 14 2122|/@E #HE |EE=HT 7 10.26.14
27| 5660|KE K =REZH 8 5.13.20 5[ 1026|3kmE =kt 3| BHE 8 10.26.32
8] 2351 |EAEBNE 3| B 9 5.17.03 10 S3[A HE HAAS 9 10.31.33
15 2961|#E mBE 1|=4td 10 5.19.84 31| 4644\ =F 2|mEH 10 10.32.86
13[ 1027|mR F#& 3| BAHE 11 5.22.05 33| 4640|% #EZF 3|EmEH 11 10.33.67
7| 4689[iEm iHF 2 | ih 12 5.24.59 9] 4683[+iE &2 3 | tirh 12 10.38.15
10{ 2354|=@ % 2| B 13 5.25.20 13 S19|RiIT #EH 2| ftAE 13 10.39.42
1 2124 &R 3k 3| L= 14 5.26.96 8] 4682[%m=<B 3| Btiseh 14 10.41.43
14 2125|/a@ ZME |EE=%d 15 5.31.00 16 1442|#m B 3|HIES 15 10.42.43
16{ 14690|@& 3l 2 | fgtirh 16 5.32.29 21| 1394|t) EH® 2| 16 10.43.72
17( 3043 |XEiFEY®D 3| FHRES 17 5.32.74 18 334|x% X® 3| HIALEES 17 10.45.12
12| 5652|tF Z 2| =RE=S 18 5.37.27 20| 1401 =4 2| 18 10.45.44
18 3051 [#E)II/INVAE 2| FKES 19 5.40.75 32| 4639|898 ¥B 3|EmEH 19 10.47.58
21| 21275 #=E |EE=%d 20 5.42.64 15[ 1024|F@ %7 3| BHEE 20 10.51.44
20| 4688 |REMEANRIK 2 | tirch 21 5.49.31 12 5618 A% 2| BHEE 21 10.53.22
19 3049|%=%k ZEF 2| FRES 22 5.50.15 22| 1399 \%k T2 2| 22 11.08.23
22| 2953|EX F& 3=k 23 5.50.88 19 1210{#%x EHIEE 3| HIALEES 23 11.13.13
24| 2126|@F tE |EE=%d 24 5.56.85 26| 1400|XKAEUVAL D 2| 24 11.18.96
23| 5651|#HM@A &m0 S|IZRE=S 25 6.01.39 24| 1443\t Y#i 3|HIES 25 11.34.67
26| 3061|/M@A BE 1| FHE$ 26 6.13.69 28| 2123|868TF &E | L= 26 11.47.23
25 S98|XHMFBHEE AELL 21 6.25.53 30| 1445|LR 3|HIES 21 12.19.20
25 J91| st 3 2| REXS 28 12.21.50
23| 1446|813 BE 3|HIES 29 12.29.03
29| 1301|\@E+ EifF 3 | 30 12.31.89
4 S1[@E BN HAAS DNS
17 204|ER == 1|iBES DNS
27] 1027|sR_FiE 3| BHE DNS
34




